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DEPARTMENTAL EXAMINATIONS 
DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE 

DEPARTMENT OF THE ECONOMICS AND STATISTICS  

(Without Books) 

Maximum Time : 1.30 hours Maximum Marks : 60 

IMPORTANT INSTRUCTIONS 

DESCRIPTIVE TYPE 
Â›ÁõÚ Âøh¯ÎUS® ÁøP ÂÚõzuõÒ 

 Read the following instructions carefully before beginning to answer the questions. 

 ÂÚõUPÐUS Âøh¯ÎUP öuõh[S® •ß¦ RÌUPsh AÔÄøμPøÍ PÁÚ©õP £iUPÄ®. 

1. Answers in excess of the prescribed number of questions appearing at the end of the answer 
book will not be valued. 

ÂøhPøÍ SÔ¨¤mkÒÍ GsoUøPUS AvP©õP GÊv°¸¨¤ß, ÂøhzuõÎß CÖv°À EÒÍ 

AvP GsoUøP°»õÚ ÂøhPÒ ©v¨¥k ö\´¯¨£hõx. 

2. In case of doubt, English version is the final. 

ÂÚõUPÎÀ \¢÷uPª¸¨¤ß B[Q» ÁiÂÀ öPõkUP¨£mkÒÍ ÂÚõUP÷Í CÖv¯õÚx.  

I. Answer any EIGHT questions : (8  3 = 24) 

 GøÁ÷¯Ý® Gmk ÂÚõUPÐUS Âøh¯ÎUPÄ® : 

1. Differentiate: Finite Population and infinite Population. 

 ÷ÁÖ£kzxP : •iÄÖ •Êø©z öuõSv ©ØÖ® •iÄÓõ •Êø©z öuõSv. 

2. Write any three characteristics of an ideal average. 

 ]Ó¢u \μõ\›°ß •UQ¯ ‰ßÖ ]Ó¨¤¯À¦PøÍU TÖ.  
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3. If a random variable X posses the following mass function 

X –3 –2 –1 0 1 2 3 

 XP  0.1 0 2k k 3k 0.2 0.1

  Then find the mean of X. 

 J¸ \©Áõ´¨¦ ©õÔ  X Gß£x RÌPsh {£¢uøÚUSm£mk {PÌuPÄ Ahºzva \õº¦ GÛÀ X ß 

\μõ\› PõsP. 

X –3 –2 –1 0 1 2 3 

 XP  0.1 0 2k k 3k 0.2 0.1

4. Write any three properties of correlation co-efficient. 

 JmkÓÄU öPÊÂß £s¦PÒ H÷uÝ® ‰ßÔøÚU TÖ. 

5. If two regression co-efficients are b1 = 4/5 and b2 = 9/20 then what would be the value of the 
correlation co-efficient. 

 C¸ Ehß öuõhº¦¨ ÷£õUS öPÊUPÒ b1 = 4/5 ©ØÖ® b2 = 9/20 GÛÀ JmkÓÄU öPÊÂß ©v¨¦ 

GßÚ? 

6. Differentiate: Discrete random variable and continuous random variable. 

 ÷ÁÖ£kzxP: uÛzu \©Áõ´¨¦ ©õÔ ©ØÖ® öuõhº \©Áõ´¨¦ ©õÔ. 

7. Differentiate : Equally likely and Mutually exclusive events. 

÷ÁÖ£kzxP: \›\© Áõ´¨¦ÒÍ {PÌÄPÒ ©ØÖ® JßøÓö¯õßÖ Â»US® {PÌÄPÒ.  

8. Find the standard error of the mean. 

\μõ\›°ß vmh¨¤øÇ PõsP. 

9. The mean life time of 100 fluorescent light bulbs produced by a company is given as 1570 hrs 
with a standard deviation of 120 hrs. If   is the mean life time of all the bulbs produced by 

the company. Test the hypothesis   = 1600 hrs against the alternative hypothesis 1600  

hrs using 5% level of significance. [ze = 1.96 for  =5%] 

J¸ {ÖÁÚ® EØ£zv ö\´u 100 JÎ¸® JÎ Â»USPÎß \μõ\› B²mPõ»® 1570 ©o÷|μ® 

©ØÖ® Auß vmh Â»UP® 120 ©o÷|μ® BS®. A¢u {ÖÁÚ® u¯õ›zu AøÚzx ÂÍUSPÎß 

\μõ\› B²mPõ»®   GÛÀ Gk÷PõÒ   = 1600 ©o÷|μ® Gß£øu AuØS GvμõÚ ©õØÖU÷PõÒ 

1600 ©o ÷|μzvØS 5% ]Ó¨¦ Põs ©mhzvÀ ÷\õuøÚ ö\´P [ze = 1.96 for  =5%]. 
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10. Write the statistical functions available in MS–Excel for the following. 
  (a) Mode 
  (b)  Variance  
  (c)  Confidence interval. 

  RÌPshÁØÖUS MS–GUéÀ £¯ß£k® ¦ÒÎ°¯À £oPÒ GÊx 
  (A) •Pk 
  (B) ©õÖ£õmhÍøÁ 
  (C) |®¤UøP CøhöÁÎ 

II. Answer any THREE questions : (3  5 = 15)  

 GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUS Âøh¯ÎUPÄ® : 

11. What are the functions of statistics? 

 ¦ÒÎ°¯¼ß £oPÒ ¯õøÁ? 

12. What are the limitations of Statistics? 

 ¦ÒÎ°¯¼ß Áμ®¦PÒ ¯õøÁ? 

13. Two dice are thrown simultaneously find the probability that 

  (a)  The sum being 6 or some number on both the dice 

  (b)  The sum being 13 

 C¸ £PøhPÒ J÷μ \©¯zvÀ Ã\¨£kQßÓÚ GÛÀ 

 (A) TkuÀ 6 AÀ»x C¸ £PøhPÎ¾® J÷μ Gs ÂÊÁuØPõÚ {PÌuPÄ GßÚ? 

 (B) TkuÀ 13 BP C¸UP {PÌuPÄ GßÚ? 

14. If X is a Poisson variable such that      690492  XPXPXP , then find 

  (a) Parameter   

  (b) Mean of X  

  (c) 1  the Co-efficient of Skewness. 

 J¸ £õ´\õß ©õÔ  X&ß £s¦      690492  XPXPXP  GÛÀ 

 (A) AÍÃk   PõsP 

 (B) X &ß \μõ\› PõsP 

 (C) 1  ÷Põmh AÍøÁU öPÊ PõsP. 

15. Write any five characteristics of Chi — Square distribution. 

 øP ÁºUP¨ £μÁ¼ß £s¦PÒ H÷uÝ® I¢vøÚU SÔ¨¤kP. 
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III. Answer any THREE questions :  (3  7  = 21) 

 GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUS Âøh¯ÎUPÄ® : 

16. Find the (a) mean (b) median (c) mode of the following frequency table 
Marks 0-10 10-20 20-30 30-40 40-50 50-60 
Number of Students 12 18 27 20 17 6 

  RÌPsh Aø»öÁsPÐUS (A) \μõ\› (B) Cøh{ø» (C) •Pk PõsP. 
Marks 0-10 10-20 20-30 30-40 40-50 50-60 
Number of Students 12 18 27 20 17 6 

17. The Contents of urns A, B, and C are as follows, 1 white 2 black and 3 red balls, 2 white  
1 black and 1 red balls, 4 white 5 black and 3 red balls. One urn is choosen at random and 
two balls are drawn from it. They happens to be white and red. What is the probability that 
they have come from urns A, B or C? 

 A, B ©ØÖ® C BQ¯ ‰ßÖ SkøÁ°¾ÒÍ £¢xPÒ •øÓ÷¯ 1 öÁÒøÍ 2 P¸¨¦ ©ØÖ® 3 ]Á¨¦, 

2 öÁÒøÍ 1 P¸¨¦ ©ØÖ® 1 ]Á¨¦, 4 öÁÒøÍ 5 P¸¨¦ ©ØÖ® 3 ]Á¨¦. H÷uaø\¯õP J¸ 

SkøÁ ÷uº¢öukUP¨£mk Av¼¸¢x Cμsk £¢xPÒ GkUP¨£mh £¢xPÎÀ 1 öÁÒøÍ ©ØÖ® 

1 ]Á¨¦ GÛÀ, A¢u £¢xPÒ A, B AÀ»x C SkøÁ°¼¸¢x GkUP¨£mh {PÌuPÄ GßÚ? 

18. The heights (inches) of fathers (X) and their sons (Y) is given as 
X 65 66 67 67 68 69 70 72
Y 67 68 65 68 72 72 69 71

  Then find the Correlation Co-efficient. 

  u¢øu (X) ©ØÖ® AÁºPÎß ©PßPÎß (Y) E¯μ[PÒ (Cßg) •øÓ÷¯ 
X 65 66 67 67 68 69 70 72
Y 67 68 65 68 72 72 69 71

  GÛÀ JmkÓÄU öPÊ PõsP. 

19. Write any Seven Properties of normal distribution. 

 C¯À{ø»¨ £μÁ¼ß £s¦PÒ H÷uÝ® HÈøÚU SÔ¨¤k. 

20. A group of 5 patients treated with medicine A weigh 42, 39, 48, 60 and 41 Kgs Second group 
of 7 patients from the same hospital treated with medicine B weigh 38, 42, 56, 64, 68, 69 and 
62 Kgs. Do you agree with the claim that medicine B increased the weight significantly?  
(te = 1.812,  5%, 10 df). 

 5 ÷|õ¯õÎPÒ öPõsh J¸ SÊÂØS A ©¸¢x öPõkzvÀ AÁºPÎß Gøh 42, 39, 48, 60, 41 Q.Q. 

GÚ C¸UQÓx. 7 ÷|õ¯õÎPøÍU öPõsh B GÝ® ©¸¢x öPõkzuvÀ AÁºPÎß Gøh 38, 42, 56, 
64, 68, 69 ©ØÖ® 62 GÚ C¸UQÓx, B GÝ® ©¸¢x EhÀ Gøhø¯ AvP¨£kzxQÓx Gß£øu 

HØÓU öPõÒÃºPÍõ? (te = 1.812,  5%, 10 df). 
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